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1. In rhombusLMNO, diagonals LN and MO intersect atP. Then LM ||

o
=

X

L M

(i) MN (i) OL (iii) MO (iv) NO

2. In rhombus CDEF, diagonals CE and DF intersect atG. Then EF ||
F E

= D

(i) DE (i) CD (iii) FC (iv) DF

3. In rhombuslJKL, diagonals IK and JL intersect atM. Then LI |

=
=
=

(i) KL (i) JK (i) 1 (iv) ]

4. In rhombusLMNO, diagonals LN and MO intersect atP. Then MN ||
0] N

X

,_.
=

(i) LM (i) MO (iii) NO (iv) OL



5. In rhombus NOPQ, diagonals NP and OQ intersect atR. ThenNO #
Q P

X

=
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i) OP (ii) OQ (iii)) QN (iv) PQ

6. In rhombusHIJK, diagonals H) and IK intersect atL. Then)K=
K J

X

I

(i) 1K (i) KH (iii) HI (iv) 1)

7. In rhombus CDEF, diagonals CE and DF intersect atG. ThenFC=
E

-

J
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—

i) CD (ii) DE (iii)) DF (iv) EF

8. In rhombusGHIJ, diagonals Gl and HJ intersect atK. ThenHI =

[—

L

G H

(i) JG (i) GH (i) H) (iv) I

9. In rhombusBCDE, diagonals BD and CE intersect atF. Then AEBC=
E D

X

o
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(i) ACDE (ii) ABCD (iii) ADEB (iv) AFBC



10. In rhombusFGHI, diagonals FH and Gl intersect at). Then AGHI =
| H

-n

G

(i) AJFG (i) AFGH (iii) AHIF (iv) AIFG

11. In rhombusABCD, diagonals AC and BD intersect atE. Then ACDA=
D C

X

A B

(i) ABCD (ii) AEAB (iii) ADAB (iv) AABC

12. In rhombus MNOP, diagonals MO and NP intersect atQ. Then AMNO =
P O

X

=

N

(i) ANOP (ii) AOPM (iii) AQMN (iv) APMN

13. In rhombusLMNO, diagonals LN and MO intersect atP. Then APLM &
@] N

X

—
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(i) AOLM (ii) APNO (iii)) APLO (iv) APNM



14. In rhombusEFGH, diagonals EG and FH intersect atl. Then AIGF
G

b

X

E F

(i) AHEF (ii) AIEH (iii) AIGH (iv) AIEF

15. In rhombusABCD, diagonals AC and BD intersect atE. Then AECD 2
D C

X

A B

(i) AECB (ii) AEAD (iii)) ADAB (iv) AEAB

16. In rhombusHIJK, diagonals HJ and IK intersect atL. Then ALHK 2
K J

X

i

(i) AUK (i) AUl (iii) ALHI (iv) AKHI

17. In rhombusHIJK, diagonals HJ and IK intersect atL. Then £ZKHI =
K ]

X
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(i) ZJKH (i) ZHI (i) ZHIL (iv) ZIK



18. In rhombusBCDE, diagonals BD and CE intersect atF. Then LZCDE =
E D

X

m
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(i) £EBC (ii) 4BCD (iii)) 4£BCF (iv) 4DEB

19. In rhombusOPQR, diagonals OQ and PR intersect atS. Then LOPQ =
R Q
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(i) £QRO (ii) £ZROP (iii) £PQR (iv) £OPS

20. In rhombusDEFG, diagonals DF and EG intersect atH. Then LZFGD =
G F

X
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i) LEFG (ii) 4GDE (iii)) £DEH (iv) 4DEF

21. In rhombusMNOP, diagonals MO and NP intersect atQ. Then ZNQM =
P O

X

M N

(i) £PMN (ii) £PQO (iii)) £OQN (iv) £MQP

22. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then LQRP =
Q P

R

=
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(i) £PRO (ii) £QNO (iii) £ORN (iv) £4ZNRQ



23. In rhombusOPQR, diagonals OQ and PR intersect atS. Then LOSR #
R Q
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P

(i) £QSP (ii) £PSO (iii) £ROP (iv) £ZRSQ

24. In rhombusOPQR, diagonals OQ and PR intersect atS. Then £LQSP =
R Q

X

] P

(i) £PSO (ii) £OSR (iii) £4RSQ (iv) £ZROP

25. In rhombusFGHI, diagonals FH and Gl intersect at). Then £JFG =
! H

X
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(i) £GH) (i) ZFJ (i) ZJHI (iv) ZIF)

26. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then ZRPQ #
Q P

X

=
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(i) £OPR (ii) £NRQ (iii) £QNR (iv) ZRNO



27. In rhombusPQRS, diagonals PR and QS intersect atT. Then £LSPT =

X

o

Q
(i) £PTS (ii) £TPQ (iii) £QRT (iv) 4TRS

28. In rhombusKLMN, diagonals KM and LN intersect atO. Then £ZLMO #
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§
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(i) £LNKO (ii) £KON (iii)) £OKL (iv) £ZOMN

29. In rhombusMNOP, diagonals MO and NP intersect atQ. Then ZQPM =
P 0

X

=

N

(i) £QNO (ii) £0PQ (iii)) £PQO (iv) £4ZMNQ

30. In rhombusDEFG, diagonals DF and EG intersect atH. Then ZHEF #
G F
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(i) £LHGD (ii) £FGH (iii)) £DEH (iv) 4GHF



31. In rhombusPQRS, diagonals PR and QS intersect atT. Then £ZPQT #
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(i) £TQR (ii) £STR (iii) £TSP (iv) £4RST

32. In rhombusFGHI, diagonals FH and Gl intersect at). Then £ZHI) =

4

F G

(i) ZJGH (ii) £FGJ (i) ZJIF (iv) ZIH

33. In rhombusLMNO, diagonals LN and MO intersect atP. ThenOP =
o] N
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(i) MP (ii) NP (iii) LP (iv) OL

34. In rhombusLMNO, diagonals LN and MO intersect atP. ThenMP =
9] N

X
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M

(i) NP (ii) LP (iii) OL (iv) OP



35. In rhombusGHIJ, diagonals Gl and HJ intersect atK. ThenGK =
) |

G H

(i) JK (i) HK (i) JG (iv) IK

36. In rhombusPQRS, diagonals PR and QS intersect atT. ThenRT=
S R

P Q
(i) PT (ii) SP (iii) QT (iv) ST

37. In the given figure, CDEF is a rhombus. Given x = 66°, find the value of 'y'.

F E
'}"D

= D

(i) 22° (i) 24° (iii) 26° (iv) 25° (v) 23°

38. In the given figure, DEFG is a rhombus such that LE = 120°. Then ADEG is

G F
/\D/
D E

(i) Equilateral triangle (ii) Obtuse angled triangle (iii) Isosceles triangle (iv)

Right angled triangle
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